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U.G. 6th Semester Examination - 2021

COMMERCE

[PROGRAMME]
Discipline Specific Elective (DSE)
Course Code : BCOM-G-DSE-T-03A & 3B

Full Marks : 60 Time : 24 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Students have the option to give answer to the question either
BCOM-G-DSE-T-03A OR BCOM-G-DSE-T-03B.

OPTION-A
Course Code : BCOM-G-DSE-T-03A

Course Title : Management Accounting
1. Answer any ten questions: 2x10=20
-1 wifB eleas T Ml
1) Mention two objectives of Management

Accounting.
ARSI f2orRewelR it Sy Srard Il |

11) Mention any two importance of Accounting Ratio

Analysis.

e Seite Ko @ @i uit vy S
|
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111) What is meant by a budget?
ST TEICS (I 2
iv) What do you mean by cost control?
3 fergel T10e (AN 2
v)  What is Budget Manual?
ST IR 52
vi) What is Acid Test Ratio?
TG (535 Solte i ?
vii) What is standard cost?
T 3 fF e

viii) Write the ideal standard of Current Ratio and
Quick Ratio.

Current Ratio @3% Quick Ratio €3 Sv«{ X+ (+7¢ |
ix) What is Profit-Volume Ratio?
Profit-Volume Ratio ¢

x) Distinguish between a forecast and a budget.

ST @ ST & A1 IR |
xi) What is meant by Break-Even-Point?
S| B (4 @00 P (IR 2

xi1) Mention the importance of standard costing

system.

T A7 Awfeq wwg S @ |
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xii1) What is margin of safety?
feiom wife f e

xiv) Write the names of two ratios that are useful to
creditors.

ANGTMITE ACF FILF 76 SA0S I Srard FCA! |
xv) What is Zero-Based Budgeting?

wofefes ST FIF A2
2. Answer any four questions : 5x4=20
(@ (I Bl @els Ted mie 3

i) From the following information supplied by
Simran Bros., Calculate PV Ratio and Break-Even

Point:

Sales Rs.8,00,000,
Variable Rs.4,80,000,
Fixed Cost Rs. 2,40,000.
(ZAIG) 2 wB)

11) The standard cost card of a factory for six months
period ended on 30th June, 2021 reveals the
following information:

Standard Labour Rate Rs. 2 per hour
Time Allowed per unit 10 hours.
Actual data were as follows-
Units produced 500
Hours worked 6,000
Actual labour cost Rs. 9,600.
Calculate Labour Cost Variance and Labour Rate
Variance.
(BTG &5l T3)
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111) The following is the Balance Sheet of G Ltd. as
on 31st March, 2021

Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Share Capital: 8,00,000 | Goodwill 2,00,000
8,000 Equity Shares of Land & Buildings 6,00,000
Rs. 100 each Plant & Machinery 3,20,000
Reserves 2,00,000| Stock in Trade 1,52,000
Profit & Loss Account 80,000 | Bill Receivable 88,000
12% Debentures 4,00,000 | Debtors 3,40,000
Creditors 3,20,000 | Bank 2,00,000
Bills Payable 1,00,000
19,00,000 19,00,000
Calculate : (a) Quick Ratio and (b) Debt-Equity
Ratio.
(2e3ME el w3y)

iv) From the following information prepare a sales

overhead budget for September, October and
November, 2021:

Advertisement

Salaries to Sales department staff

Expenses of sales department

Counter salesmen’s salaries
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Rs.5,000
Rs.10,000
Rs.3,000
Rs.12,000



Commission to counter salesmen at 1% on their
sales. Travelling salesmen’s commission at 10%

on their sales and expenses at 5% on their sales.

Estimates sales are -

Month | Counter Sales(Rs.) | Travelling salesmen’s

sales (Rs.)
September 1,60,000 20,000
October 2,40,000 30,000
November 2,80,000 40,000
(2e3ME el w3y)

v) Distinguish between Cost Accounting and
Management Accounting. 5
offsrra f&o1a el ¢ ifspler ferTiaemreea e AL
feT 3541 |

vi) What is meant by Budgetary Control? Mention the
importance of Budgetary Control. 2+3
et foRrge Twiee [ @RI et FREeE ey
HCTIO! FCAT |

Answer any two questions. 10x2=20

@ (I v 2o Teg wis ¢

1)  From the following particulars prepare the Balance
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Sheet of Jupiter Ltd. as on 31st March, 2021:

Fixed Assets to Net worth 5:8

[Turn Over]

Reserves to Proprietor’s Fund 1:5

Current Ratio 2:1
Quick Ratio 1:1
Fixed Assets Rs.6,00,000
Current Assets Rs.7,20,000
Cash in hand Rs.50,000
(2e3ME el w3y)

i1) A chemical is prepared by mixing two components
— A and B as follows:
40% of A @ Rs.20 per litre and 60% of B @ Rs.30
per litre.
A standard loss of 10% is expected in the process.
During a month the following materials were used:
90 litres of A @ Rs. 18 per litre and 110 litres of
B @ Rs. 34 per litre.
Actual output was 182 litres.
Calculate—
a)  Material Cost Variance
b)  Material Price Variance
c¢)  Material Mix Variance, and
d)  Material Yield Variance.
(2c3ME el w3)
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111) The sales and profit of Nippon India Ltd. In the

first half of 2020 were Rs. 5,40,000 and
Rs.81,000 respectively. For the second half of the
year the respective figures were Rs.6,00,000 and
Rs.1,05,000. Assuming there was no change in

fixed costs, calculate :

a)  the amount of profit when sales would be
Rs. 7,50,000, and

b)  the amount of sales required to earn a profit
of Rs.85,000.

(BTG 2l wB4y)

The manager of Production Department submitted
the following budgeted expenses for production
of 10,000 units in the factory of Syntax Ltd.

Per unit cost (Rs.)

Materials 70
Labour 25
Variable overheads 20
Fixed overheads (Rs.1,00,000) 10
Variable expenses (direct) 5
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7
Administrative expenses (Rs. 50,000) 5
Total cost of sale per unit 155
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Prepare a budget for production of 12,000 and
15,000 units showing total cost and per unit cost.
Assume that administrative expenses are fixed at

all levels of production.

(BTG 2l wB4y)
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OPTION-B viii) Mention any two elements of advertising copy.

Course Code : BCOM-G-DSE-T-03B ol sffea @ @me 16 SoAmia S S |

Course Title : Advertising
ix) Name any two types of advertising agencies.

@ (I 12 R [eaiof AR e (#714 |

1. Answer any ten questions: 2x10=20
@I el ersia Ted wie ¢ x) What do you mean by audience analysis?
i) Define advertising. (el e F@1ce R ?
Crealol’ - g 75eEl e | xi) What is deceptive advertising?
11) What is covert advertisement? AT feetol e
ool Freerel &2 xii) What is ‘advertising budget'?
fareatof et <52

1i1) What do you mean by advertisement copy?

Rl ST <eTCe R 2 xiii) What is communication in advertising?
fe@isita Qisiicael F2

xiv) What is the full form of AIDA?

1v) Define ‘media planning’.
TG AT - G K| WG |
v)  What is DAGMAR model in advertising? AIDA - s o1rp{ e o

realoieT DAGMAR 0ws] 5 2 xv) Who is the “Father of Advertising”?

. . . . “RIealol e T (F 2
vi) Mention any two demerits of Internet advertising. i (P

BDITD RSaIoIGa 1 (<PIe 415 o <ol S | 2. Answer any four questions: 5x4=20

vil) What is pre-test technique to measure the (- CPICA BTR{D 2Ce T e

effectiveness of advertising? 1)  What is the significance of advertising?
fRrealsitT PriIfErSt ARICAT @l (FreT F2 REICEAC R EEE:
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iii)

Vi)

Answer any two questions:

Discuss the major internal and external factors
involved in advertising planning and decision

making.

feaiol ifFee @R Prare @eTF e wivw 2yl
241 Srerg A e AifEy el SiEel 341

State the advantages of television advertising.
(Gferiexa Resisicra sffRenafer Srad 6 |

Discuss the importance of creativity in

Advertising.
fRes12[(e] IETeTO WP SEIb] S |

Write a short note on ‘ethical aspects of

advertising’.

fresi it (e Mmafer ST «fb 1Hre DIl @12 |
Explain the functions of advertising agencies.
fesio sicgiafer SR i S|

10x2=20

@I 7B &0sd e e ¢

i)
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What factors would you consider while selecting

an appropriate medium for advertising?

eI &) GoRye SMILrIG fioe 17 ST gfsl (i
@I Ramefer [l s e
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ii)

iii)

What are the various elements of copy? Explain

the steps in copy development process. 3+7
@35 syferfor Rfen Totmmafer [ 52 srfafel S
e Ameeiafel 1 S |

“Money spent on advertisement is wasteful.” - Do

you agree? Give reasons.

“Reaiol qm 7 AT — Ofl [F 9w 2 IR
W18 |

State the requirement for measuring advertising
effectiveness. Discuss various techniques to

measure advertising effectiveness. 3+7

Reaioita SifsITe! AR aEeaRre! I 6! |
Reioima FFfTel sfawmes ey @ @
B T |
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